No. T ZEF 4x100m A FL—YL— A LR
mh 4:30.44 K& 4:34.62 S 2 6:18. 09
10%5 ( ) FE—ikE =g =35
1. ( )
2. ( )
3. &1 ( . . . ) EiE
4. FFR (f8dm W3 R BE - BEE FEL SR ER ) st 1:42.45 2 5:54.09
5. MERHR (B =¥ KT nH CKH BF CEEODE ) % 1:33.66 1 5:52.76
6. —% ( . . ) B EHE
7. ( )
8. ( )
9. ( )

248 FE—ikE &g i=dih!
0. REXH # ZoZ L RE I AT - BE/AE ) = 1:25.11 7 5:42.70
1. p ($#H & BEAR mE -EniG M -HBH T ) = 1:53.88 8 5:49.99
2. BEREME (BRI AR T -BH EA SEIN PR - HFO OFEK ) it 1:13.45 6 5:33.12
3. B¥Pk W& BJTE JIlE BER -HE £ =k ES ) = 1:18.45 5 5:24.75
4. =) (Fi3 B - BTEZEDH -0 #®A - IIT BT ) = 1:06.85 1 4:48.24
5. HIUR (R¥ =& -BAH BE - 1R i3E BH OME ) = 1:07.63 2 4:57.51
6. EF (WRE W -l BF - HE - BR jEE ) s 1:19.45 3 b5:06.16
7. EHE% ( - - - ) B xig
8. Ml (TR #H#E B BE - B s ETEEEF ) i 1:24.94 4 5:22.72
9. BB#& (MFHETE -BE B - B RHF - il IEiE ) i 1:34.58 9 6:06.10

No. 2 BEF 4x100m A FL—YL— A LR
mh 4:04.22 X£& 4:07.71 S g 5:53. 09

10%5 ( ) F—ikE =g =35
1. #B& ( . . ) EiE
2. %4 (ME ZF =g EBH -@EE B K B ) e 1:27.13 4 5:44.39
3. BR ( . . . ) HE EiE
4, HEEXH @ent - B A i BEX - K@ & ) e 1:21.02 1 4:55.97
5. BEX (Bl Kith @R FE - @A K#0 & 5 ) s 1:12.12 2 5:03.52
6. FERME (FE Bt - B b3 - ZH 2R - BB =8 ) s 1:25.79 3 5:27.80
}73. EBE Eiﬁ SR—ER - (RE BTE -FE #s -kH S ) =t 1:26.46 £ 4

) . . . )
9. ( )

248 E—ikE &g i=dih|
0. &t (FHEfEXH MmA KHE - BAMEXRER IEEZN ) = 1:16.93 9 4:50.19
1. B (#LE MBiH K =5 & -BEAXR AKX -EROER ) =z 1:13.14 4 4:39.76
2. mEl (A HEB RN R - BIE &3 - EERERER ) e 1:21.42 8 4:49.99
3. &= (L& Er - HFKE Bl EE CIRA X ) = 1:05.58 2 4:36.66
4. B2 (B 18 -EX EE - gl = -BtR B ) i 1:06.54 1 4:21.23
5. ¥ GEK B sl KE - HEEHE AR HEE fMtL ) = 1:20.76 6 4:43.65
6. E&R (5l AE @ FE - EBE B kR BE ) i 1:09.42 3 4:38.59
7. IEH (ZA BA - J\KRSKETH - fUER EE Al BE ) = 1:08.60 5 4:42.51
8. MtEZRAR (FTH8 L] -E2H BR CINE IR - fel z ) i 1:12.53 7 4:49.19
9. &Pk (nLEmLe - RE 3 -WIR BE {11 & ) iz 1:19.65 10 5:02.99

No. 3 ZF 400m BEHFE R A LR

mh 4:18.96 =  4:28.37 SN2 6:48. 09

_ & B R 248 & B =T
0. 8 Bh (B F% ) H3 9 6:15.95 0. ARARE (B2 ) ®3 9 4:51.23
1. BERX #£E (FREX ) 12 8 6:02.11 1. Bl gEE (#EN ) 1 6 4:41.84
2. WTF ¥t (#EN ) ®2 4 5:11.55 2. FZ Kith (FREX ) B2 4 4:34.50
3. Ik EE (R ) ®13 3 5:09.14 3. #A HFE (FBER ) B2 3 4:28.00
4. I3k (RLWR ) ®2 2 4:58.16 4. WHEFEXER (=& ) &3 1 4:16.44
5. &1 73 (L& ) 2 1 4:53.08 5. B M (RE ) 3 2 4:23.45
6. HE & (B2 ) ®3 6 5:27.84 6. A ks (Kt Bk ) &1 5  4:39.02
1. FiE #E (Bt B Z &R ) 2 7 5:42.80 1. PNl RIE (%L ) i 7 4:45.98
g. E:s E E?]ﬂﬁ”l g 2 5 5:12.44 g NHE E=ig EU—Iﬂ g 3 8 4:46.35
o 7 B 400n BEW LR Vo5 &ZF 400n BEAFFL— N

mh 3:58.19 X£ 4:09.79 22 6:18. 09 mh 4:49.83 X£& 4:59.56 S g 7:48. 09

14 &I e ] &I =35

0. ( ) 0. ( )
1. ( ) 1. ( )
2. ( ) 2.l x5 (Bt B ERAD ) ®13 5 7:26.88
3. MA FE (FEEX ) H3 3 5:27.88 3. Bl k= (FRERXX K ) ®2 3 5:27.62
4. hL KB (PR B ) 12 1 4:45.03 4. FE LB (N ) ®3 1 5:08.22
5. de)l D (FRERXX K ) 2 2 5:09.56 b, #EE fELL (E=R ) i 2 5:21.89
6. ( ) 6. BlF =F/ (&N ) H3 4 6:32.61
7. ( ) 7. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )




No. 6 BF 400m RTEAAKFL— R A LR B
=g 4:29 91 K& 4:36.21 S 2 7:08. 09
&g R Al 248 & B =T
0. ( ) 0. X&E &N (FREXXH ) 3 8 1:16.12
1. de)i #E (IE i ) 3 7 6:03.21 1. KXEH E¥ (#)11 ) 3 1 1:08.19
2. J\RFTH (I ) ®3 6 5:38.51 2. ,—;E?’Eumk (I ) ®2 10 1:17.10
3 mhm & (BE ) 3 3 51428 3 EK EE (il ) 2 7 1.1544
4. 5EE (BE ) ®H2 1 4:58.33 4. ¥n1HE =S (FmE%E ) i 9 1:16.34
5. mth @R (hR ) 1 2 45857 5 82% A®  (nE ) 3 5 1:14.35
6. I ZE (E= ) ®3 4 5:16.18 6. i+ 25 (7&dt ) 2 6 1:14.81
1. gIE &3 (7Nl ) /3 ZHE 1. Nk BiE (Kt B IR ) 2 2 1:12.29
8. KA #MX (N ) ®m3 5 5:31.27 8. BX KT (#=ENn ) ®m1 3 1:13.86
9. ( ) 9. X% A (B ) ®m1 4 1:14.25
No. 7 Z+F 100m BHRf R A LR B
i 56. 37 XE 59.05 SiE1:31. 09
148 &R B 348 &R =i
0. ( ) 0. MIR{_—Ej (3w ) ®m3 4 1:10.61
1. I & % ) ®3 K& 1. 8K &¥ (FRERTENth ) B2 1 1:07.38
2. XKE HF (ERI«TE ) &3 K& 2. Lk e (0:0 ) ®1 3 1:08.58
3. &5 T4 (B ) 2 5 1:25.02 3. KB iz (E= ) 2 2 1:08.32
4. % = (i%_:”.’. ) $3 1 1:20.50 4. IFEEZN (7&dt ) 3 6 1:11.12
5 BERALE (REXH ) 3 3 1:23.01 5. BH 1EE (I ) &3 EHE
6. AR ETE & ) /3 Kig 6. & 5 (FAEX ) ®1 8 1:12.77
1. &8 K (BEF% ) ®1 2 1:22.45 1. K Eif (%% 4 ] ) &3 7 1:12.64
8. #i K EE (==l ) ®1 4 1:23.55 8. XH (#En ) ®m3 5 1:11.06
9. ( ) 9. KX #HX (BEF% ) 19 1:15.21
248 &R B ] 448 &R =S|
0. RHF 1TEH (N ) 3 7 1:19.48 0. #kH ML (% ) H3 10 1:10.53
1. #tE FIF oAl ) 3 9 1:22.70 1. £ 3t (ZBER ) 3 5 1:06.36
2. WE ME (FAmB ) 3 1 1:14.93 2. EH [E3} (M4 & ) ®#l 9 1:08.65
3. s 1B (BRsx ) ®3 2 1:15.55 3. BIE A% (RNt ) H3 3 1:05.14
4. K¥ T (MIE AR ) 2 3 1:16.59 4. kxR BE =4 ) 3 1 1:04.25
5. k¥ £ (MTEE%IK ) ®2 5 1:17.18 5. F&EF & (#3:F ) ®1 7 1:06.63
6. 5¥H ZnH (= ) ®l 4 1:17.02 6. Wi 184 (k1L ) 2 2 1:04.88
1. A BE (ERI«TE ) f3 6 1:17.36 1. B K& GE®f ) ®m3 6  1:06.37
8. B2 FHK (L= ) 2 ZHE 8. R¥ = (B2 ) ®3 8 1:07.00
9. it &R N ) 2 8 1:21.74 9. {R% HI&EH (BHE ) 2 4 1:06.06
3#H & B =T 5#H & IE =T
0. ,ﬁ%é?ﬁ'ﬂ: ("B ) ®#l 3 1:10.35 0. JIEHEER (1&=2Rke ) 3 7 1:05.17
1. #1 (Z% ) 2 EiE 1. hHxEK&Y (BEXTER ) ®m1 8 1:05.26
2. A UE?E (FAEX ) ®:3 1 1:07.69 2. Il BE (it B IR ) ®3 4 1:02.71
3. &Nl FW (FAFEME ) &2 5 1:11.21 3. ftE RE (RE ) ®2 EHE
4. R —% (7 ) 2 EiE 4. WA E=fE (s ) F3 2 1:00.72
5. N H%E (BR ) i 2 1:08.66 5. tHEHFE—ER (RE ) H3 1  1:00.03
6. =% D# (M E R AR ) Bl 6 1:11.66 6. #1456 & (MtIE AR ) Bl 6 1:04.18
7. IR b (BR ) @1 4 1:10.66 1. BFHEXRER (&1t ) ®2 3 1:01.77
8. MADIF (1B=E ) ®2 7 1:12.99 8. {EEEEAXED A ) ®3 9 1:05.55
9. J\HB KF (%% +~ [ ) 2 8 1:19.12 9. & [ RE (AR ENjth ) ®2 5 1:03.87
448 &R s 6 #f &R H?rﬁaﬁ
0. & AM (Bl ) ®#l 7 1:07.47 0. F& WK (BRFF ) 2 10 1:01.7
1. HE == (PR ) @2 6 1:06.96 1. EH #\H (E= ) H2 4 59. 46
2. /A #& =51 ) 2 2 1:04.82 2. il BEXK (FREXH ) ®3 6  1:00.10
3. kB EBEX (= ) ®2 5 1:06.81 3. BF It (hg ) H3 5 59.74
4. BH FiE (KIR% ) #3 1 1:02.93 4. FRE = ("B ) H3 2 54.84
5. §H _ETE (MtE#kLL ) 3 3 1:05.19 5. WEE#EANE (% ) 3 1 54. 21
6. RARS 55 (K= ) 2 8 1:07.57 6. MiAX BEiA (RE ) H3 3 58.16
1. R E (¥R ) 2 4 1:05.76 1. iR EF (=2l ) ®3 8 1:00.94
8. BHAE pir (hg& ) ®#l 9 1:07.97 8. /MK A (& ) 2 7 1:00.39
9. At+EEER (s ) $2 10 1:08.74 9. #Et KW (3R ) H2 9 1:01.02
No. 8 5+ 100m HBHHRHF R A LR B No. 9 Z¥ 100m FEikE R A LR B
i 52.46 XE 53.35 SmiE1:21. 09 = 1:03.28 PN :05. 00 S 02 1:46. 09
148 &R B 148 &R =35
0. ( ) 0. ( )
1. ( ) 1. ( )
2. &5 %K (FAFREME ) 3 EHE 2. ( )
3. & JANE (FAEX ) 2 K& 3. @ W3 (Em ) ®2 3 1:39.43
4 B EH (4% 4 ] ) ®3 1 1:16.95 4, BEH & (&t ) H2 2 1:36.84
5. ERK E (#En ) ®1 2 1:17.25 5. BH B (&1t ) ®3 4 1:42.04
6. &% RH (%% ~ [ ) $3 3 1:20.64 6. WFETE 33 ) $3 1 1:33.84
7. A sk (Kie ) 2 Kig 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )




No. 9 ZF 100m FHikF B A LR No. 11 %F 100m N2T354 B A LR

= 1:03.28 = 1:05.00 S 2 1:46.09 mh 1:02.06 X£& 1:04.34 S g 1:49. 09

248 N N &8 e ] 148 &I 3]
0. B =¥ (Bt IBERAD ) H3 8 1:34.59 0. A M (ERM‘HE ) 2 K&
1.8 ZoZ (FRERXH ) 2 4 1:25.12 1. ¥H 3B (= ) i 7 1:37.93
2. TR i (s ) 2 3 1:25.11 2. MNIMAZT (E%‘BK%Z ) H:3 4 1:27.61
3. BERF T& (#ns ) ®1 5 1:26.65 . BAELC D ()11 ) 3 3 1:25.26
4. {O HFXK (FERME ) &3 £ 4. BB DE (%% # ] ) &1 1 1:18.78
5. BK &£ (FAEX ) &2 2 1:23.20 5. gk fEW (K& ) 3 2 1:24.73
6. = B4 (B2 R ) 3 6  1:27.56 6. W)l YE (=% ) 2 EiE
1. B EZE (FREX ) 1 1 1:21.94 1. Buig W (KiE ) 3 6 1:33.09
8. J\A kFi (%% + ] ) 2 £ 8. WA ¥ (THe ) 1 5 1:29.93
9. f1@A £ (AR ) &1 7 1:31.71 9. ( )

348 EIE e ] 248 &8 i=dih!
0. % &1t (&2 ) &3 10 1:19.07 0. kA %A (N ) ®2 7 1:15.53
1. #iE KB (34 ) 3 8 1:16.03 1. &8 K& (EEREZR ) 2 EiE
2. IBX T (& ) F3 3 1:13.08 2. AR KRFF (HEF% ) ®H3 8 1:15.61
3. HF Tk (K ) ®3 9 1:17.56 KR TI P N> 3 (B2 AN ) i 3 1:08.16
4. R¥ £ (RIWER ) 1 1 1:07.90 4. KT HN (R ) 12 1 1:04.15 X£%#
5 5 Lt (#ns ) ®3 2 1:12.52 5. BX mZE (KiE ) F3 2 1:06.35
6. XE EBEX (P ) B2 4 1:13.68 6. BRI (FRME ) 3 4 1:10.36
7. *1L £ (R#% )y ®H12 5 1:13.97 1. &g BD €3 ) H13 6 1:11.39
8. WWT #70 (&m ) 1 6 1:15.61 8. ¥+ = (EFEH ) 2 5 1:10.80
9. RTHEEDH (#En ) H13 7 1:15.67 9. ZAE®RE (RIWER ) 3 9 1:15.72
No. 10 BF 100m &EikE A LR No. 12 BF 100m 2754 A LR

m=h 51. 41 K& 59.04 SiE1:37. 09 m=h 56. 20 K& 56.79 S g 1:39. 09

10?'63 ( ) &IE ] 10?'63 ( ) &IE R
1. ( ) 1. Ik FE (&4t ) H3 4 1:35.47
2. ( ) 2. FE®R H (¥~ [E ) /3 £iE
3. FIl AKX (FREX ) 12 3 1:34.76 3. ML R (lE U ) /3 K&
4. PE {ZF (%% + ] ) ®3 2 1:21.75 4. #O XH (BE ) 3 3 1:27.63
5. N8 EBC (3=l ) 11 1:17.31 5. BB =W (FARHRE ) 1 1 11171
6. ( ) 6. K EEH = ) 2 EiE
7. ( ) 7. fEH FBE €G3 ) &3 2 1:22.73
8. ( ) 8 ( )

9. ( ) 9 ( )

248 &8 R ] 248 &8 i=dih!
0. ( ) 0. A X (FREX ) ®3 8 1:14.59
L aR FIR (FARIB ) F2 6 1:31.97 1. & 4TE (lE U ) H:3 6 1:11.86
2. & R—H} (BEBER ) 3 1 1:27.19 2. WE A (B2 ) 2 EiE
3. He FiR (&1t ) &2 4 1:31.26 3. 1B A (LW ) &3 3 1:03.51
4. HE Bt (FRME ) 12 2 1:27.30 4. A EKX (ANt ) ®H2 1 59. 68
5. wiE BiX (%% + ] ) 13 3 1:28.01 5. && w3 (HE:¢ ) B2 2 1:03.34
6. KIE [REA (B2 ) ®13 5 1:31.60 6. MLz R (&m ) 2 4 1:04.19
7. ik E (k= ) H3 8 1:33.88 1. INE I (Pt B ER AR ) 2 5 1:04.98
8. B BFE (E=R ) ®2 7 1:32.59 8. KH && (BE ) 3 7 1:14.48
9. ( ) 9. /M¥k AT (G&dt ) ®3 9 1:19.32

No. 13 ZF 100m Fxk& A LR
= 1:09.84 X& 1:14.32 SniE1:47. 09

348 =] B 148 &IE R

0. W X3t (BE ) 2 7 1:22.83 0. ( )

1. FK BN (% ) 1 4 1:20.94 1. ( )

2. &Il 5 (&= ) 3 9 1:25.56 2. mE & G:3:3 ) #3

3. A AR (s ) F2 5 1:20.97 3. WA == (k= ) F2 1 1:45.01
4. AR {GEE (B2 ) 12 1 1:18.11 4. O BRE (Z% ) il £
5. 2@ Z# (FERME ) F2 8 1:23.15 5. B =ik (ERM‘HE ) ® 2 1:46.32
6. ks B G&IALHE ) 1 2 1:18.55 6. BE &1t G:3:3 ) /3 K%
1. %8A =A (FREX ) 1 6 1:22.40 1. B EB (7&dt ) ®2 Kig
8. tH HRR (#EN ) &3 10 1:26.45 8. ( )

0 WE{—B  (FEL ) &3 3 1:20.83 9 ( )

4%0 ) &I = 248 =8 i=dih!
0. iR pid (2 ) &1 10 1:18.99 0. #8 B&£ (hnyg ) &2 5 1:37.19
1. KBEHT ()1 ) &3 2 1:05.56 1. KIZCHAEE (Bt /B Z &R ) ®2 10 1:42.32
2. ®RE_BA (l U ) H13 6 1:08.68 2. BA BE (g ) F2 6 1:38.03
3. J\KEkETH (lg I ) ®H3 8 1:11.41 3. BH #= (RIWER ) ®1 3 1:31.98
4. Ik Ert (N ) ®$12 1 1:05.13 4. ‘R EFF (HEFF ) ®H13 2 1:29.57
5. ¥rep —iR Pl ) H12 3 1:06.16 5. RA #B= (FHe ) B3 1 1:29.31
6. KLU 1, (R#% ) &2 4 1:06.86 6. LK EBHE (E=R ) i 4 1:34.83
1. BEEARE (B2 ) F3 5 1:08.03 7. 5@ E= (=% ) 2 8 1:40.37
8. K BEE (R ) &$13 7 1:10.31 8. A BE (&1t ) 2 7 1:40.15
9. FHEEEKXH (&1t ) H3 9 1:17.23 9. E—HUME (BFK ) B2 9 1:42.26




No. 13 Z¥ 100m FpkE B A LR No. 16 5BF 1500m HHF B A LR

b 1:09.84 k2 1:14.32  Hm04E1:47.09 B 16:07.74 A2 16:56.03  Si®2:30.09
3 IR ERE EIE B
0. B WH (8@ ) 1 1 1:27.45 0. ( )
1. BA EF  (Asx# ) 12 8  1:28.42 1. ( )
2 ERMEY (KB ) B2 5 1:24.18 2. ABRHBE  (RE ) 3 5 19:27.74
3. B* BB (BRE ) B3 3 1:18.81 B BB (k& ) 3 2 17:10.51
4 B BaR (MR ) 2 1 1:14.74 4 EEARH I ) 2 1 17:07.16
5. Big ER  (hm ) 2 2 1:18.13 5 WTF k¥ (& ) 3 3 17:31.17
6. LT BF (BRE ) B2 4 1:19.49 6. dLNl D GRERXH ) 2 6 19:46.81
7. WA 2&F  (#@ ) B2 6 1:26.91 7. @I KB (Bl ) Al 4 18:47.10
8. #/OXEF (KE ) il K& 8. ( )
9. Ik BEM  (E%ER ) B2 9 1:33.82 9. ( )
No. 14 BF 100m Fok= A LR No. 177 %F 50m EH® 74 LR

b 1:03.69 k£ 1:05.05  Hm04E1:37.09 mth 2586 k&  27.54  SBiE  43.09
178 EE B 178 EE B
0. ( ) 0. ( )
1. ( ) 1. ( )
2. ( ) 2. ( )
3. &F AEE (BFk ) 3 2 K4 3. IY7 URER (BRHE ) 2 0P  50.12
4. 515 AW (%% 4 ] ) H3 1 K& 4. B Euf (%% 4 ] ) H3 1 38.30
g. EH RE EM#EI%I%B g 3 EiE g. Ak =ExE Eﬁ%'rlﬂ g f3 0P 45. 95
7. ( ) 7. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
248 BIE EERS 24 IR BERS
0. &% A¥E (BEX ) 2 K& 0. BEE BT  GE ) 3 0P  43.80
1.#s0 X (BE ) B2 5 1:28.93 1. BB (BEE ) 2 3 42.05
2. WA KE  (AEX ) 2 6 1:34.36 2. BRTFE  (BFk ) 1 0P ZiE
3. BR L& ()11 ) ®3 1 1:26.20 3. #H ol (Kie ) il K&
4. it FE (kR ) 3 2 1:26.23 4 BETHN  (BFkKR ) &1 0P  37.32
5. Bl E3; 0 @I ) 2 4 1:27.87 5. MF #ZE  (BR ) @1 1 38. 88
6. T #HZE  (ARME ) 2 3 1:26.98 6. BO KE (=% ) i ZiE
7. 2% B (& ) 3 7 1:35.76 7. ZE®PE (EN ) 3 2 41.74
8. MLz 33 ) ®$3 K& 8. HH Big (BEFF ) 1 0P 36.57
9. ) 9. MEALNE (B ) 1 0P 49 .46
34 B EIE  EeR 34 EIE  BeR
0. f W& (ARME ) 2 7 1:27.74 0. 5@ M&E G ) 19 39. 46
1. 78 hE  (BE ) B3 9 1:28.55 I BE »E  (tm ) B2 10 40.60
2. B H|E  (RE ) B2 4 1:24.07 2. BEFRE  (REXH ) 37T 38. 98
3. fhFEARER  GENI ) @2 5 1:25.04 3. B BE (Bl ) @3 1 36. 36
4 FEE =7 ) @1 6 1:25.78 4 Fr B B ) 2 3 38. 13
5 BF ®A 0 (& ) 1 3 1:22.24 5. %% MF  (BRME ) @l 4 38.14
6. T &R (KE ) B3 1 1:18.27 6. O #& Bk ) 2 2 36. 69
1othft X# GES ) 3 2 1:21.53 7. 5@ W (E& ) 3 5 38. 41
8. EH &% (MtIE AR ) ®2 8 1:28.09 8. RA FE% (&= ) Bl 6 38.75
9. W EE (Bl ) 3 10 1:34.26 9. Wiy HFE (% ) 3 8 39. 20
448 &EIE =i 4 48 & & i
0. & £ (K2 ) 2 10 1:18.79 0. WA (kR ) 2 7 37.06
1. BX BE (B2 ) B3 5 1:12.97 1. i ER (EH ) 3 2 35. 08
2. hE B (REXH ) B3 4 1:12.68 2. WE HF  (mx ) 3 4 36. 52
3.8 HFW (i ) @3 3 1:10.84 3K B (T ) 18 37.53
4. LA HHE (& ) R3 1 1:04.74 X&£3 4 K = (#8332 ) 2 1 33.53
5 F)I| #Bt  (fEE ) B2 2 1:10.27 5. iE# FK (EE ) 2 ZiE
6. FHE #A (BHE ) 2 6 1:13.73 6. EX #|EF (&L ) 2 3 36.15
7. A F8 (kxR ) B3 8 1:14.41 7. %2E BF  (ERME ) 3 9 38. 05
8. mA k& (&t ) @1 7 1:13.81 8. =H EE (=& ) 2 5 36. 84
9. Bk &  (EW ) B3 9 1:18.21 9. B F#  (EBE ) 2 6 37.02
No. 15 Z+ 800m BEMEE A LR

b 8:57.13 k2 0:14.13  £n484:00.09

&IE 35| 548 =] B

0. ( ) 00 B8R & (@A/R ) 3 7T 33. 88
1. ( ) 1. de)l B (B ) 3 9 34.78
2. ( ) 2. A B (BLME ) f1 2 33. 53
3. ( ) 3. mi EE (BE ) 3 4 33. 69
4 ® DE  (EWLR ) 2 1 10:11.99 4 FEE Bu (k= ) 2 3 33. 68
5. MR EER (BRE ) B3 2 10:41.15 5. A BF  (HER# ) 2 6 33. 76
6. ( ) 6. BX TS (& ) H2 1 33.25
7. ( ) 7. hE BE  (EH ) 3 8 34. 04
8. ( ) 8. MW@ ME (FARIB ) H3 4 33.69
9. ( ) 9. BA EF  (BILME ) @3 10  35.40




No. 17 X% 5m BEE 51 LRHE
e 2586 k&  27.54 _ HiiE 4309
6 fH ElE e fE 5#f EE B
0. BAELCS (@ ) @3 9 3296 0. MFE B (& ) @3 9 3682
1. B85 F¥8 (B ) @17 3252 1. ME BB GRILHE ) @3 1 30.84
2. =fE M (7&m@ ) Bl 6 32.08 2. IEFIEZ B BrE ) ®2 7 34.48
3 BA mfE (A ) @2 8 3294 3. B& ®a @ ) @1 3 3294
4. BR W (BES ) 3 1 30.89 4 =% BE  (BEE ) @3 2 3263
5. hE £8 (PR ) @2 2 31.06 5. +#5 #H  (BE ) @1 4 3324
6. E+mERT (nEN ) 2 3 31.37 6. WAk XB (BEE ) @2 5 338
7 HAESE (B ) 2 4 3152 1. BR MR (@R ) @2 8 3544
8. mEEMIE (BE ) @1 5 31.80 8 MZMEA  (EZLHE ) 2 6 34.33
0 BAH# #®  (mLR ) il 10  33.73 0. ME #=  (EFk ) @3 0P 34.35
74 EIE EER 64 i EIE B
0. Kl E  (K# ) @2 7 3038 0. 52K B G2l ) 1 8 3459
1. m/ASD5  (KE ) @2 8 30.90 1. #3 #& (&t ) @3 6 3246
2. #E Eft  (WEHWL ) @3 6 3028 2. HE ¥H (WL ) @1 7 3295
3 dte HE (A ) 1 3 2918 3 BT A (B ) @14 3117
4. ¥ Fi (KR ) @3 2 2833 4 IEBeH (B ) @3 1 3065
5. RETHN (R ) 2 1 2813 5. £ (8 4 [ ) 3 %4
6. FEELE  (ELR ) @3 5 3027 6. EAK E () ) @2 5 3229
1. /A #FE (Bh ) 2 4 2962 1. /RE k% (BEkR ) @3 0P  31.94
8 &0 H& (BREMWE ) 3 £iE 8 #t = (BE ) @1 3 3075
9. &K &% (FER ) ®2 9 31. 61 9. KB E=E (sl ) ®H3 2 30.73
No. 18 BF 50m BEE 51 LRE
me 2469 k& 2503 HiME 4009
14 EIE R fE 7 %8 EE B
0. ( ) 0. 84X & (SRERE ) H2 6 30. 84
1. B8R & (2% ) 1 0P 4363 118 ER (K ) 3 2 2873
2. & z  (BEWE ) @il 0P 1:01.30 2. BW BEE  (HEHL ) @2 10 3272
3kl B (EX ) 3 0P  39.90 3 A & (EE ) @1 4 3073
4. 5E %5 (WL ) 1 0P 3442 4 £ B} (BUE ) 1 7 30091
5. EE AR (BERME ) 2 0P 41.66 5. %E =&  (FWL ) @3 1 2828
6. MEF [/A 2 ) 1 0P 41.94 6. HIE E% (FRERE ) ®H3_ 3 29. 56
1. Sff (BBE ) 3 0P 4617 7.ke B (Em ) @2 5 3076
8. B ®E (& ) B3 0P ik 8 EH# AWM (HERS ) @2 8  31.06
9. ( ) 0. A FE (EH ) @3 9 3167
248 EE e fE 8i#H EE B
0. BE 2 (BEME ) @1 OP  38.60 0. BIENER (WL ) @2 8 3117
1. FEIEXER (3037 ) 1 K& 1. AKX &E& (sl ) ®H3_ 6 29.23
2. B RE  (MERS ) 3 0P 4325 2. hEBIKRF  (BEATR ) @1 5 2902
3 WA B (BExE ) i =i 3 52 BE (LR ) @3 3 2868
4. %O ?Elﬁ (BHE ) ®3 2 37.99 4. HE BE (B2 ) ®2 i
5. HE H (B2 ) 1 OP  34.89 b, fEEEEAR (NN ) @3 2 2811
6. K3 r=-¥11 (BEE ) 2 1 36.64 6. EF & (E¥k ) 3 4 2893
1% BR (E¥k ) 1 0P 3822 7ML B (B2 ) @3 0P  29.38
8 Im  # (& ) i %4 8 N BZ  (HERS ) @3 1 27.95
o HEH—E  (EW ) 1 0P  34.92 0. % B\ GHEEt ) @2 7 29.52
3#f EE e 9#f EE B
0. XBB—8  (EH ) 2 4 37.36 0. NE MR (HERSD ) @2 8 27.90
1 BES 8 (B%ER ) @3 0P 3775 1. BE #3 (&= ) 3 9 2837
2. AE BE (s ) @3 1 3398 2. Al EK  (F#HX% ) @3 6 27.34
3. IMNE EA (FERHE ) ®H3 2 35. 85 3. MA RBiA (B2 ) ®H3 5 27. 14
4 KE M- (CF ) @2 3 37.29 4 WE =K (BE ) @3 1 2528
5. s EAR (W ) @3 0P 3677 5. SR EE (¥ ) @3 4 2680
6. 548 WA (¥R ) 3 0P  37.15 6. K A (K& ) W2 2 2672
1.EN R (B ) 1 6 3935 1. E@B EH (kR ) @2 3 2619
8. HH A (ERME ) 3 £iE 8. Nk fRA GRS ) @2 7 27.55
0. BIE BE  (BE ) @2 5 3871 o JlLmtE  (E¥k ) @3 10 2891
No. 19 ¥ 200m BAX FL— 51 LR
Bt 2:14.35  K£ 2:23.35  #ini=3:44.09
448 EE e 14 EE B
0. B R (s ) @3 2 3525 0. ( )
1. hE @l (KiE ) @2 7 37.04 1. ( )
2. INE = (FRERX ) Bl 6 36. 71 2. ( )
3 EBMAL (¥ ) @3 0P 3670 3O Wi (BB ) 2 2 3:33.93
4. FME B (EFk ) @2 0P 352 4 BR HME  (BRME ) 2 E3
5. b BE  (BEE ) 2 4 3559 . MHEE  (KE ) 3 1 3:13.34
6. WAAEE (=% ) 2 3 3529 6. ( )
7. BE@m By (REXH ) @1 8 3779 7 ( )
8 m tEE (N ) @3 1 3311 8. ( )
9. FEE =& (4 ) Bl 5 36. 34 9. ( )




No. 19 ZF 200m f@EAAKFL— R A LR
mh 2:14.35 X& 2:23.35 g 3:44. 09
248 . &I 30 248 =8 =i
0. KT W& (Mt B AR )y @3 9 3:22.96 0. ¥R —% (&1t ) 2 EiE
1. xH#F (Mt BT AR ) 2 8 3:16.82 1. W™ ¥ (N ) B2 5 2:26.43
2. =) g (B ) ®1 4 2:59.82 2. & K& (EERER ) 2 £iE
3. EJ_-F BF (R ) ®2 1 2:40.43 3. mH EHE (KRS ) 3 3 2:16.47
4. K BX (FREX ) &2 3 2:59.13 4. WA pEE (BZEM ) 1 1 2:14.56
b =% ¥ (Pt /B Z &R ) &1 2 2:58.85 5. BN (FARME ) &3 2 2:16.23
6. TR Imfc (sl ) &2 5 3:03.63 6. il X (h&E ) &2 4 2:18.92
1. Bl EF (#EN ) &3 6 3:04.77 1. @E L& (4% ~ [ ) i 6 2:27.98
8. thMA =i (FRHME ) 3 7 3:112.41 8. MHE E (s ) ®2 7 2:28.78
9. ( ) 9. &)l P (FRME ) d2 £
No. 22 B¥ 200m HHEW Ly iR B
= 1:53.30 & :57.92 S 2:57. 09
348 &8 R 148 &I =35
0. BH ME (RIWER ) 3 7 2:41.08 0. ( )
1. HE %E4&£ (&2 ) &3 9 2:52.46 1. ( )
2. ATAZE 'M*T FEN ) ®3 5 2:38.75 2. ( )
3. ME OE (4% ~ [F] ) i 3 2:31.38 3. BHAERA (I e ) ®2 3 2:55.87
4. FE LB (N ) ®3 1 2:23.70 4. RN EEH (k= ) 12 2 2:51.68
5. IBA M%E (Kie ) 3 2 2:26.91 5. Ak &R (%% # ] ) 3 1 2:50.74
6. #EE fELL (E=R ) &1 4 2:35.22 6. ( )
1. WT  #0 (;%m ) i 6 2:40.96 1. ( )
8. BA 3 (T ) H1 8 2:45.33 8. ( )
9. 1Rk fEWE (K& ) &3 10 3:00.16 9. ( )
No. 20 BF 200m f@EAAXKFL— R A LR
mh 2:04.77 X£& 2:08.49 S 3:29. 09
14 &8 350 248 =8 =i
0. ( ) 0. % A% (s ) 3 9 2:47.25
1. ( ) 1. KB £ e=3| ) ®3 6 2:43.57
2. ( ) 2. 18 3'"7.1?5 (FAEX ) ®1 5 2:34.30
3. ¥ 25 (&4 ) ®2 2 3:16.53 3. WiTE (&2 ) i 4 2:33.22
4. M = (lE U ) $13 3 3:22.41 4. EF’FﬂF‘j(EB (&t ) B2 2 2:22.80
5. &M HR (3R ) i 1 3:03.12 5. XE 1&#B (B2 ) 3 1 2:19.64
6. ( ) 6. L& &3l (B2 ) ®2 3 2:33.17
1. ( ) 1. Nk L (Mt B AR ) 2 8 2:44.97
8. ( ) 8. EH X (Bt IBERAD ) 12 10 2:48.07
9. ( ) 9. X8 & (FREBXH ) 3 7 2:44.61
248 N b= [ A 34 &8 i=dih|
0. iEx =W (FRHME ) ®1 7 3:09.83 0. B s (MtE#EIL ) &1 7 2:12.75
1. A0 X (BE ) 2 £ 1. jthEB—ER (%2 ) ®3 8 2:12.78
2. & Eﬂﬂ% (FEX ) i 6 3:06.30 2. A #FE (ZBER ) ®&2 3 2:07.41
3. EH IEE (34 ) /3 £ 3. BA Hth (& ) 13 4 2:07.47
4. &E @3 (HFHE ) &3 2 2:56.53 4. LA HWE (% ) #3 1 1:56.56 KX=#r
5. s &4 (%L ) ®2 1 2:48.77 5. WHEEXER (=& ) &3 2 1:59.51
6. =i BEF (FREX ) F3 3 3:03.39 6. ElF Kt (FREX ) 2 5 2:09.76
7. B HiK (%% # ] ) ®3 4 3:03.87 1. #E BEBE (3w ) 2 6 2:12.18
8. FnH 1= (FREX ) 1 5 3:04.46 8. #& 1A (Mt B AR ) 110 2:16.34
9. ( ) 9. /L KB (FERAB ) ®2 9 2:13.63
No. 23 ZF 200m HEikE B A LR
mh 2:16.25 XE 21.78 S 3:49. 09
340 i &8 i=dih! &I 5]
0. BigRE:R (31l ) ®2 8 2:46.50 0. B&H# b1 (&1 ) &2 9 3:29.94
1. 4t #E (I I ) 13 7  2:45.36 1. B =¥ (Pt B AR ) 3 8 3:24.54
2. EH 3 = ) ®1 5 2:40.93 2. W B\ (&= ) ®3 5 2:49.64
3. e —j (/= ) 2 3 2:24.34 3. #iE HR (34 ) 3 4 2:48.16
4. &% 1BE (R#% ) #3 1 2:19.15 4. £E +tiE (#his ) ®3 1 2:37.69
5. Bk 4 (%2 ) 3 2 2:19.68 5. IBA T (& ) F3 2 2:37.83
6. HlF AE (k= ) ®3 4 2:25.25 6. L k= (FREXH ) 2 3 2:41.73
1. Bk I (B2 ) B2 6 2:44.15 1.8 Zoc (FRERX 2K ) B2 6 2:58.44
8. &t B G&ILHtE ) ®1 10 2:54.34 8. 1A £ (FRHME ) F1 7 3:20.84
9. A Mt (k& ) F3 9  2:52.30 9. ( )
No 21 &F 200n EEWE CEINT No 24 BF 200m BK= 51 LR
B 2:02.77 A% 2:01.91__ #mfE3:21.09 B 2:0402 A% 2:08.35 _ #MmfE3:29 09
14 &I i ] 148 &I =35
0. i &M (#EN ) &2 9 3:09.13 0. ( )
1. st %}lﬁ (B ) 3 6 2:54.69 1. BB Bt (FAZRME ) 2 3 3:11.74
2. 58 & (B ) 3 5 2:54.04 2. B BE (E=R ) 2 6 3:22.00
3. MNIMAT (FRERXH ) 3 2  2:47.56 3. Nk z (E=R ) 3 7 3:25.25
4. =+ EH (B2 Rk ) 3 3  2:53.20 4. tH RBE (#N ) ®3_ 2 3:03.90
5. d)ll &% GIEEE: ) ®3 4 2:54.00 5. FHEEAH (&4t ) 3 1 2:56.04
6. A HXx (B2 Rk ) 12 1 2:43.88 6. At Fif (&t ) ®2 5 3:17.17
1. BH #H= (&4 ) ®=3 8 3:01.23 1. & R—H (ZBER ) 3 4 3:13.11
8. FH Ttk (#EN ) &3 7 2:57.78 8. ( )
9. ANfEE EAME &1t ) &2 10 3:13.28 9. ( )




No. 24 BF 200m &EikE A LR
mh 2:04.02 X£ 2:08.35 S 3:29. 09

248 &8 Rl 248 =8 i=dih|

0. ;K (HEE (B2 ) 12 8  2:45.17 0. ( )
1. BB (B2 ) 3 7 2:30.09 1. IlJZF B= (L= ) 1 8 3:28.60
2. Kim BE (&R ) 3 5 2:28.71 2. H EF ()1 ) &2 5 3:06.30
3. ZH BA (34 ) $13 4 2:26.49 3. ME DE (%% + ] ) 1 1 2:45.79
4. HEE#EKEA (%% )y $13 1 211721 4. BH BB (%m ) ®$13 3 2:50.79
5. I EM (N ) ®&2 2 2:22.77 5. Bi5 MW (e ) ®2 2 2:47.88
6. Bl FEE (N ) 1 6 2:28.81 6. EMMIFY (R#% ) 12 4 3:02.47
1. XKBET ()1 ) &3 3 2:22.80 1. £ Ak (K&E ) &2 7 3:19.99
8. fiiR prd (12 ) i 9 2:52.58 8. JIIL BEN (&2 ) &2 6 3:17.37
9. K HE Al ) ®2 10 2:57.58 9. ( )
No. 26 %F 200m 2754 A LR No. 28 BF 200m Fxk& A LR
mh 2:15.04 X£& 2:18.85 S E 3:59. 09 mh 2:15.57 X& 2:21.83 S 3:34. 09
& B R 148 &IE R
0. ( ) 0. ( )
1. ( ) 1. ( )
2. Enig M (Kie ) $13 5 3:41.98 2. ( )
3. RA = (THS ) 3 4 2:45.40 3. MEEZHK G331 ) 3 2 3:30.20
4. EZR B €i=3=3 ) B3 3 2:44.12 4, HREEEN (mE ) A1 1 3:14.95
5. #FE =2 (EFEH ) 12 1 2:38.52 5. #F EX (&4t ) H13 3 3:31.28
6. WO IHA FEN ) ®2 2 2:42.26 6. ( )
7. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 26 BF 200m 2754 A LR
= 2:03.34 X£  2:09.07 g 3:44. 09
N & B R 248 &IE B
0. 2@ 8} (FRME ) 2 K& 0. Wi7E 12 (&= ) 1 6 3:11.56
1. #ep 1% (B2 ) /3 K& 1. FiE HE (BE ) 3 8 3:12.36
2. *ﬁlﬂﬂ%z; (G&m ) 2 4 2:24.23 2. (R8> I (ZBER ) ®2 4 3:10.58
3. B B (PR ) 1 3 2:22.78 3. EA &R (MtIE R AR ) &2 7 3:11.57
4. WA EX (ZRERTE ) &2 1 2:12.05 4. [RAE WX (#EN ) 3 1 2:52.25
5. BAR @EKX (W ) F3 2 2:20.48 5. R EFH (3w ) $13 2 2:52.75
6. EE s (€i:3=3 ) F2 5 2:24.32 6. {hFFZAER (N ) H2 3 3:07.92
1. WiE & (B2 ) 2 EiE 7. 1H BA (FARHRE ) 2 9 3:14.92
8. FIE & (34 ) $13 6 3:02.83 8. it E=E (LR ) H13 5 3:11.03
9. /M¥k AT (&1t ) ®H13 7 3:10.44 9. I mME (FERME ) 12 10 3:24.09
No. 27 Z¥ 200m FikE R A LR
mh 2:29.89 X£& 2:37.19 S 3:44. 09

14 &g 5] 348 =8 i=dih!
0. ( ) 0. & £ (%2 ) 12 7 2:47.34
1. ( ) 1. 8@ 2 (k= ) $13 8  2:47.59
2. ( ) 2. WA KH (&1t ) ®1 5 2:41.51
3. BH ME (R ) B3 1 3:03.68 3. Bl o (&2 ) 12 4 2:38.09
4. RIZHNE (Mt B Z &R ) 2 2 3:32.15 4. )| #Ex (fEE ) &2 1 2:30.89
5. KT nwH (MtIE R AR ) F3 3 3:32.31 5. #% %ﬂk (s ) ®$13 2 2:32.17
6. ( ) 6. mE B (REXH ) H3 3 2:35.23
1. ( ) 1. AIH Jﬁ-‘+ (hnE ) ®3 9 2:48.72
8. ( ) 8. BEX BE (%2 ) H13 6 2:41.77
9. ( ) 9. Bt & (B ) ®H3 10 2:53.29

No. 20 ZF 4x100m —YJ—1JL— A LR
= 4:03.65 X< 4:08.50 S 02 5:58. 09

140 —KE =g =35

0. ( )

1. ( )

3. /ﬁiﬂi (BH #HE - INEE EME - IR BT -EX BE ) it 1:23.26 1 5:39.47

4. ( . . . ) EiE

1 o G B R BE BB ORD e TR bR 1509 2 5:40.19
) . . . )

1. ( )

8. ( )

9. ( )

248 E—ikE &g i=dih|
0. mEl ("3 (=8 B BE - TR I s ETEEEF ) = 1:10.88 5 4:52.88
1. WA # Zoc SRl R%E I AT - BE/AE ) = 1:15.63 8 5:03.04
2. BEX (B METE ‘EKRK BX CER EFEE BN OEZE ) i 1:10.01 4 4:50.55
3. B¥Pk tFta23F -HE EE JIlE BER IR BT ) i 1:12.20 3  4:45.903
4. =) (Fi3 B - BTEZEDH -0 #®A - IIT BT ) =ak=2d 58.54 X&<#r 1 4:18.46
5. WIUR (R =& - 1R iIsE BH ME - REEESE ) = 1:03.79 2 4:24.46
6. FERME (BRI AR T - KE BT -thE B - HFO OFEKR ) = 1:03.91 7 5:02.56
1. MERER (R BF = ¥ - kH E3 - TiE OBER ) = 1:16.18 6 5:00. 17
8. & (FH® EN - &5hE 18 CHEE = - B OERK ) . 1:19.35 10 5:40.37
9. FR (A L R BE SR ERE - Bl R ) i 1:08.22 9 5:33.36




No. 30 B+ 4x100m ZY—1L— B A LR
R 3:43.35 A& 3:46.27 Shn4Z5:18. 09

148 B—ikE &R B

1. 854 (T HiK B9 RH -E=iE EE -k B3 ) mhE 1:11.05 7 5:03.73
2. 58 R HLE -HH #E - P2 BEE ‘& R—m ) rthE 1:07.44 3 4:30.70
3. mEX (Z Kt -BAR =A - f08E =3 -Z@E BEE ) fhE 1:00.17 5 4:41.52
4. MIEIRER UNE IR I ] CEHF K -fEN w=E ) i 1:01.63 1 4:19. 71
5. WEBHK (iEl BEX den D - RE R - KE BN ) HhE 59.98 2 4:29.13
6. B (fBE RK - #E 2 -1 #A -HO OKE ) BhE 56. 17 4 4:32.58
1. BH (FEEZE - REB—H -HhHE FE -FE KX ) mhE 1:28.90 8 5:11.52
g. FERHE Eﬁ%‘?ﬁ 8 -ZH 2 - T HE - {H mE ) BFE 1:14.00 6 5:01.01
) . . . )

248 F—ikE & & B ]
0. AnEi (AR HER - @A & - B4 -EBEARR ) hE 1:10.07 9 4:19.33
1. Bl (HLE HBE - BAOEAX - RIBRER - Bk £ ) mE 1:00.75 5 4:13.66
2. ¥ (HE 5 A BA - WT k¥R - A Mt -BBF XX ) BhE 56. 25 4  4:13.03
3. LE (A BA - J\RFKLEA Al BE -[@EE OEE ) 59. 44 3 4:10.75
4. RE (41l = - BiR 18, - th B 5 — BB -HAR e ) BhE 59. 42 1 3:55.39
5, E= (FE XE - H FE Ec BE -t@E BW ) HF 58. 67 2  4:01.43
6. # (lRA #/X - Ik =t -EL BEE S HFEARR ) mE 1:01.51 6 4:14.06
1. BFR I B8 {11} i KRB  E -WiR EE ) rhE 1:05.34 8 4:17.90
8. &dt (PHEXRER IBEEAZAT - FH{EAH <A KA ) HE 1:02.50 10 4:19.58
9. RERME (% BE -HIE OEER -fBAR EF -BAR EX ) thE 1:04.40 7 4:15.68




